A o, tan A ] gk FFotolet. (F,0° <A <90°)

42
© —- 5 9

©)






o2 A7 9] EE H 17 sin 70° + cos 50° X sin 25° 4+ tan 70° 9] 7k
“FotH?
pAdey sin cos tan
25° 0.42 0.90 0.46
50° 0.76 0.64 1.19
70° 0.93 0.34 2.74
O 3.9188 @ 3.9288 ® 3.9388

@ 3.9488 ® 3.9588



4. o2 1A tAQC =60°, /BOC =60° & o, /ZAPB 9 A7|&
“Fofof et




o2 8o x +y—a—b o] 327

O 20° @ 25° @ 30° @ 35° ® 40°



The 728 B 5.0ptAB ©] Zdol= A
P
B
Q
A
D
10cm __/'\C

D 1lcm @ 2cm ® 3cm @ 4cm ® 5cm



7. Th& 293 2 €0 A 5.0ptAB =
5.0ptBC , ZABC = 120° &4 |, zx & 2
715 Fatoler,




8.  T& I 22x - 2y 9] k2 LAupIZp?

@® 124° @ 122° ® 120° @ 118° ® 116°



9. oL 1A tan15° & Ztol a+bV3 L W, a+b ] S F5toiet.




10. sinA = g A o, cosA + tanA 9] FE-27 (T, 0° <A <90°)
5 12 23 31 39
3 @5 905 ©yx 9%



11. sin30°sin60° 4 cos 30° cos 60° + cos 45° sin 45° 2] 229

1+ V3 ®1+2«/§ ®1+\/§
4

@
@

2 2
1+ V3 ®1+2«/§
4 2




12. o2 a33 7o) /B = 60°, «C = 45° 21 AABC o4 AH1BC ©]2,
AB =8cm ¢ w, AC ¢] Zo]&?

@ 4cm @ 4+3cm ® 4+6cm
@ 8Scm ® 8+6cm



13. sin0° xtan0° —cos0° 2] Zk2 A, sin90° x cos 90° + tan 0° 9] ZF=
Bet& o, B- A 9] 3t&?

© -2 @ -1 ® 0 @1 ® 2



D 8.192

e sin cos tan

54° 0.8090 0.5878 1.3764

55° 0.8192 0.5736 1.4281

56° 0.8290 0.5592 1,4826
@ 5.736 ® 5.878 @ 8.09

® 8.29



15. & a4 /BCO = 25° 9 o], /BAC
o] 37]& st}

(=

25°

Q



16. o3 €9l &3 AB, CD 9] w¥2 P o,
3 BC 2 o7l 37 & uf, o] Yo] AFE
“FobH?
® 157 @ 167 ® 177
@ 187 ® 197




N VN

17. o2 IHNA 5.0ptAB = 5.0ptBC,

/ABD = 65°, /BDC = 40° & u,
(CAD 9] 37]=°?

@ 25° @ 30° ® 35° @ 40° ® 45°



18. ohg 1T 2L AZHIZY AABC oA sinA ©] G ArtRIZ

= —
A
5
(o —— 4__/3
2 V41 3 V41 441
D i ) i ©) i
41 41 41
5 V41 6 V41



19. o33 Zol £C = 90° 91 A Z42E AABC ©f| A sinA — cos A <]
oz vrE A29

ot
| w



20. 3 5 cosA o gho] &2 AHZH[E?

@ sinA @ sinB @ cosB @ tanA ® tanB



21. o2 139 AABC 9|4 £C =90° ¥ T, sinA + cos A 2] g2 5}
o2},

A



22. o2 1989 A44AE ABC 9lA cosA o] @F2 ool




23. oS 199 A7 ABC of|A sinA 9] 3He Fatola)




24. & TIoA sinB, cos B, tan B 9] 2 2| & J-5hoi 2t

L ©isinB=
? & cosB =

& tanB =



25. & IHo|A sinB, cos B, tan B 9] < 2| & F-5hoi 2t



26. sinA = % A o, cos AtanA ©] FH-& F-stodzt

15 7 9
o @5 O @ O



